
 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-172B     page 1 

PEAKTRONICS
 

 
 
 
 

 

MKT-170 
 

Actuator Controls Mounting Kit 
 

ASSEMBLY DIAGRAM Bernard AT25, 50 Actuators 
 

ACTUATOR

TRANSMITTER

INSULATING
SHEET MOTOR

CAPACITOR

A

NOTE: Remove motor capacitor
and associated hardware, and re-
mount to Bracket "A" using existing
nut. Reconnect capacitor wires to
terminals 10 and 11 on inside edge
of terminal strip.

HEATER

G

J

CONTROLLER INSTALLATION

G

I

C

C

HHHH

MM M
M

NOTE: Mount feedback potentiometer
before installing controller. See Poten-
iometer Installation.

D

D

D

D

STANDARD
CONTROLLER

 



 MKT-170 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-172B     page 2 

 
 
 

ASSEMBLY DIAGRAM Bernard AT25, 50 Actuators 
 

ACTUATOR

A

POT LOCKWASHER

POT HEX NUT

N

POT WASHER

POINTER

NOTE: Remove and discard
existing pointer.

NOTE: Gear "P" will not fit
onto potentiometer shaft.

POTENTIOMETER INSTALLATION

F
F

D

K

K

P

L

E

O

Q

B

 



 MKT-170 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-172B     page 3 

KIT CONTENTS 

A

D

E H L MGF

B C

I J K N

O

P
Q

 
 
 
 
 ITEM QTY DESCRIPTION 
 
 A 1 positioner bracket 
 B 1 cam bracket 
 C 2 6mm/1mm  X  80mm  flat head screw 
 D 5 34mm steel spacer 
 E 1 6mm/1mm  X  50mm  pan head screw 
 F 2 #4  X  1"  sheet metal screw 
 G 2 #6-32  X  0.375"  socket head screw 
 H 4 #6-32  X  0.375"  pan head screw 
 I 2 #4-40  X  0.312"  flat head screw 
 J 2 #4-40  keps hex nut 
 K 2 0.25" nylon spacer 
 L 1 6mm split ring lockwasher 
 M 4 #6 split ring lockwasher 
 N 1 potentiometer anti-slip washer 
 O 1 potentiometer gear 
 P 1 output shaft gear 
 Q 1 replacement pointer 
 not shown 1 16" white wire 
 not shown 1 16" black wire 
 not shown 1 16" red wire 
 not shown 4 6.3" nylon tie wrap 



 MKT-170 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-172B     page 4 

 

A
C

D
IG

IT
A

L
P

O
SI

T
IO

N
E

R
S

B
er

na
rd

A
T

25
,

50
A

ct
ua

to
rs

W
IR

IN
G

D
IA

G
R

A
M

11
7V

A
C

D
H

C
-1

00
23

4V
A

C
D

H
C

-1
00

A

1 2 3 4 5 6 7 8J2
J1 1 2 3 4 5 6

+
5V

ou
tp

ut

+
15

V
ou

tp
ut

L
2

N
E

U
T

R
A

L

L
1

L
IN

E

E
A

R
T

H
G

N
D

SI
G

N
A

L
G

N
D

4-
20

m
A

1-
5V

,
0-

5/
10

V
co

m
m

an
d

si
gn

al

fe
ed

ba
ck

m
on

ito
r

1 3 2

actuatorterminalstrip

R
E

D

W
H

IT
E

B
L

A
C

K

B
L

A
C

K

W
H

IT
E

R
E

D

FE
E

D
B

A
C

K
PO

T
E

N
T

IO
M

E
T

E
R

PO
T

-1
02

D
ir

ec
t

ac
tin

g
or

re
ve

rs
e

ac
tin

g
is

au
to

m
at

ic
al

ly
se

t
du

ri
ng

ca
lib

ra
tio

n
of

cl
os

e
an

d
op

en
.

7 6 5 4 3 2 1

O
T

X
-1

00
T

ra
ns

m
itt

er
M

od
ul

e
(o

pt
io

na
l)

O
T

R
-1

00
T

ra
ns

m
itt

er
/R

el
ay

M
od

ul
e

(o
pt

io
na

l)

OTR-100only

N
ot

e:
G

ro
un

ds
ca

n
be

co
nn

ec
te

d
to

ge
th

er
.

V
ou

tp
ut

m
A

ou
tp

ut

SI
G

N
A

L
G

N
D

A
U

X
C

L
O

SE
O

U
T

A
U

X
O

PE
N

O
U

T

FA
U

L
T

O
U

T

R
E

L
A

Y
C

O
M

M
O

N



 MKT-170 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-172B     page 5 

 

ac
tu

at
or

m
ot

io
n

20
m

A

ac
tu

at
or

m
ot

io
n

20
m

A

W
7.

5V

FE
E

D
B

A
C

K
T

R
A

N
SM

IT
T

E
R

(o
pt

io
na

l)

A
C

A
N

A
L

O
G

/
L

O
G

R
A

T
E

P
O

SI
T

IO
N

E
R

S
(s

ta
nd

ar
d)

B
er

na
rd

A
T

25
,

50
A

ct
ua

to
rs

W
IR

IN
G

D
IA

G
R

A
M

11
7V

A
C

A
M

C
-1

01
A

/
L

R
C

-1
01

A
/

L
R

C
-1

01
G

23
4V

A
C

A
M

C
-1

00
C

/
L

R
C

-1
01

B
/

L
R

C
-1

01
H 1 2 3 4 5 6 7 8J2

J1 1 2 3 4 5 6

W
H

IT
E

B
L

A
C

K
R

E
D

+
10

V
ou

tp
ut

+
24

V
ou

tp
ut

L
2

N
E

U
T

R
A

L

L
1

L
IN

E

E
A

R
T

H
G

N
D

SI
G

N
A

L
G

N
D

1-
5V

/
4-

20
m

A

0-
10

V
co

m
m

an
d

si
gn

al

fe
ed

ba
ck

m
on

ito
r

X
M

A
-1

05
4-

20
m

A
X

M
A

-1
06

0-
5/

10
V

U
se

ex
ce

ss
PO

T
-1

02
w

ir
es

to
w

ir
e

tr
an

sm
itt

er
.

D
IR

E
C

T
A

C
T

IN
G

R
E

V
E

R
SE

A
C

T
IN

G

1 3 2

actuatorterminalstrip

actuatorterminalstrip

R
E

D

W
H

IT
E

B
L

A
C

K
132

B
L

A
C

K

W
H

IT
E

R
E

D

B
L

A
C

K

W
H

IT
E

R
E

D

FE
E

D
B

A
C

K
PO

T
E

N
T

IO
M

E
T

E
R

PO
T

-1
02

PO
T

-1
02

FE
E

D
B

A
C

K
PO

T
E

N
T

IO
M

E
T

E
R

R
E

D

W
H

IT
E

B
L

A
C

K



 MKT-170 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-172B     page 6 

 

ac
tu

at
or

m
ot

io
n

O
PE

N

ac
tu

at
or

m
ot

io
n

O
PE

N

A
C

O
N

/O
F

F
C

O
N

T
R

O
L

L
E

R
S

B
er

na
rd

A
T

25
,

50
A

ct
ua

to
rs

W
IR

IN
G

D
IA

G
R

A
M

11
7V

A
C

A
M

I-
10

3
23

4V
A

C
A

M
I-

10
3A

co
nt

ro
l

si
gn

al
s

D
IR

E
C

T
A

C
T

IN
G

R
E

V
E

R
SE

A
C

T
IN

G

1 3 2

actuatorterminalstrip

actuatorterminalstrip

R
E

D

W
H

IT
E

B
L

A
C

K
132

B
L

A
C

K

W
H

IT
E

R
E

D

FE
E

D
B

A
C

K
PO

T
E

N
T

IO
M

E
T

E
R

PO
T

-1
02

PO
T

-1
02

FE
E

D
B

A
C

K
PO

T
E

N
T

IO
M

E
T

E
R

W
7.

5V

FE
E

D
B

A
C

K
T

R
A

N
SM

IT
T

E
R

(o
pt

io
na

l)

fe
ed

ba
ck

m
on

ito
r

X
M

A
-1

05
4-

20
m

A
X

M
A

-1
06

0-
5/

10
V

U
se

ex
ce

ss
PO

T
-1

02
w

ir
es

to
w

ir
e

tr
an

sm
itt

er
.

R
E

DB
L

A
C

K

C
L

O
SE

(D
C

/A
C

L
O

)

C
L

O
SE

(A
C

H
I)

O
PE

N
(A

C
H

I)

O
PE

N
(D

C
/A

C
L

O
)

SI
G

N
A

L
G

N
D

+
24

V
ou

tp
ut

B
L

A
C

K

W
H

IT
E

R
E

D

R
E

D

W
H

IT
E

B
L

A
C

K

1 2 3 5 6 7 8 9J2
J1 1 2 3

10 11

L
2

N
E

U
T

R
A

L

L
1

L
IN

E

E
A

R
T

H
G

N
D

O
PE

N
C

O
M

M
O

N

4
C

L
O

SE
C

O
M

M
O

N


